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EEIZE 53, 358, 777
FEE(-12m) r—v U EE 53, 358, 777
KA (5r—v oK) 53, 358, 777
=y UEET 53, 358, 777
K@ 181, 680
1 V=D 4 U8 ) t=bcm 240. 00 757 181, 680
m2
Biz 4,086, 990
2 SRR RIS 1,001.00 2,430 2,432, 430
m2
3 NEHEEH 864. 00 1,915 1, 654, 560
m2
E511 21,022, 270
4 $Fm IS (1) SD345 D13 22,817.00 204 4,654, 668
kg
5 $kFNTIHALL (2) SD345 D16 7,171.00 202 1,448, 542
kg
6 $XFNIHAL (3) SD345 D19 14, 309. 00 202 2,890, 418
kg
7 $kFANIHALL (4) SD345 D22 26,012.00 202 5,254, 424
kg
8 SkERMNI#HL (5) SD345 D25 23,189.00 202 4,684,178
kg
9 REXES - m/A— D76 24.00 75, 800 1,819, 200
N
10 AEkH - B/AN—H 3,420.00 78 266, 760
kg
11 BKAMEE VP-75 1.00 4,080 4,080
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g 15, 385, 667
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BER M B EE R 1,166, 202
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=%
HiTEEE 42,000
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MEIEE 5,396,865 + 14,224,740 19, 621, 605
HERERE GDH 1,208,202 + 3,745,786 + 442,877 5, 396, 865
HBRBE (FEL) 1,208, 202
HBREE (R) 53,358,777 x 7.02% ((5.38% x1.00 +1.50% x 1.02) 3,745,786
RSRERES 53,358,777 x 0.83% 442,871
RisEEER 58,755,642 x 24.21% ((22.31% +1.19%) x 1.03) 14,224,740
TER 53,358,777 + 19, 621, 605 72,980, 382
—REEES 72,980,382 x 17.78% (17.78% x 1.00) — 5,485 12, 970, 426
LR E 72,980,382 x 0.04% 29,192
T &l 72,980,382 + 12,970,426 + 29,192 85, 980, 000
HETR SR L 85,980,000 x 10.00% 8, 598, 000
FEIZRE 85,980,000 + 8,598, 000 94, 578, 000
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m3 5. 00 3,900. 00 19, 500
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% 5 3R - ks Bf = B £ i & &
SRl F AR RIS ZEHL (r— Y U BlE) JL—uikE
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=] 0.30 72, 250. 00 21,675 8H
& it YE%855 : 100.00m 2 1,915.00 191,575
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k g 1,030. 00 117.00 120, 510
SIS (r— D E1E) yL—rtkE
k g 1,000. 00 69. 30 69, 300
yR—59 L—r GhEERER) 55t &
B 0.20 72, 250. 00 14,450 8H
& Hi YEZHeH : 1,000.00k g 204. 00 204, 260
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k g 1,030. 00 115.00 118, 450
SIS (r— D 81E) yL—rtkE
k g 1,000. 00 69. 30 69, 300
yR—59 L—r GhEERER) 55t &
B 0.20 72, 250. 00 14,450 8H
& Hi YEZHeH : 1,000.00k g 202. 00 202, 200
&5 :9
%5 BEkEH - B/N\— D76 1Ry
2 b g - BIRTE BT H = B O %8 # " =
mEKAR - m/N— D76mm L=3. 75m (HT690)
ZN 1.00 75, 800. 00 75, 800
& Hi 1E%HERN - 1. 00K 75, 800. 00 75, 800
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£ BEkE - A/ 1000k g4 Y
2 b g - BIRTE BT o = B O %8 # " =
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B 0.20 72, 250. 00 14,450 8H
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& BEKFMEE VP-T5 XY
2 b g - BIRTE BT H = B O %8 # " =
BEIEEEZLE (—KRE) VP—75
m 4.00 1,020. 00 4,080
& Hi 1E%HeH - 1.00K 4,080. 00 4,080
&5 :12
75 SRBRAAT N 100m2 %Y
2 b g - BIRTE BT H = B O %8 # " =
BRI AT AR S (r— Y D BE) yL—rtkE
m2 100. 00 5,200. 00 520, 000
yR—59 L—r GhEERER) 55t &
B 0. 40 72, 250. 00 28,900 8H
& Hi YEZERES : 100.00m 2 5, 489. 00 548, 900
&5 :13
& arvH)—iTER 30-12-20 W/C=50%LLTF 10m3%HY
2 b g - BIRTE BT #H = B Ol %8 # " =
LT4—3HRbary)—+F 30N-12cm-20mm (&%)  W/C=50%
m3 10.10 16, 500. 00 166, 650
a2 )— MTHR (G —Y 2 8E) Ry TE
m3 10. 00 3,990. 00 39, 900
& Hi 1E%HESH - 10.00m 3 20, 655. 00 206, 550
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B DEMENER s/n—>—HL—55t R 1XEY
£ 5 L - BIRTiE BAf = B & % i & &
STFL—r9L—r A ARER) GhEmiET J8) 25tH
B 1.50 55, 100. 00 82, 650 8H
BREx£a
A 5.50 24, 680. 00 135, 740
EifREEE HEIEE D%
% 434.00 218, 390. 00 947,812
& B 1YE%HeH - 1.00K 1,166, 202. 00 1,166, 202
5:15
£ BIERERE E-42VV/RENIE IEED)
£ 5 L - IRTiE BAf = B & # i & &
MEIRERAE A SRE
= 1.00 42,000. 00 42,000
& B 1E%HeH - 1.00K 42,000. 00 42,000




